H £ 0l & AF & S

ot At SE3H &

Al A

S BRAIRA
M SlaTHATIHEE
o9l GICHIY MRS (GHTAIR SHEIH) CERED
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
SN 31,621,823 31,621,823 0
2 8,419,000 8,419,000 0
| 617,074 617,074 0
= 1,644,100 1,644,100 0
Al 20,941,649 20,941,649 0
ST MRS 774,2% 313,405 460,890
ST HUTHRIEE (ST A S5 774,2% 313,406 460,890
olul bl 603,99 143,106 460,890
801 OilHl bl 603,99 143,106 460,890
01 o] 103,9% 143,106 239,110
ool 103,9% 143,106 239,110
B URR23 500,000 0 500,000
OUERS3 (M3l =) 500,000 0 500,000
EEPENFEEY 10, 183,226 10,644,116 460,890
2 180,000 180,000 0
| 388,074 388,074 0
= 3,300 3,300 0
Al 9,611,852 10,072,742 460,890
RASHEHRIAlE 2(SHEAY S5I) 4,784,685 5,245,575 460,890
= 3,300 3,300 0
Al 4,781,385 5,242,275 460,890
RISt EHE AL 2 4,773,685 5,234,575 460,890
201 Yur2 | 964,560 1,194,520 £229,960
01 Al 22l 30,360 60,320 229,960
OXZAA BBLL2(MESLAA)
910,00024+63] 5,460 0,920 75,460
O4ZAA BBL2B(FSEAM)
200,00024+23] 400 2,400 £2,000
O3 FHMY AR 2,500,000 +12 2,500 25,000 222,500
2 B2 934,200 1,134,200 £200,000
OAIZ EHIR I 315,000 515,000 A200,000
GRAHRIE ASBHST 50,000 200,000 A150,000
Sal2 HelAld |
50,000, 00021 #14] 50,000 00,000 A50,000
206 THE B 304,940 547,645 £242,705
01 THE 304,940 547,645 £242,705
OIIHALS SN2 IH(LE, 2Y S)
2 1,000,0002! 43! 4,000 8,000 4,000
OFIIANES NS4 IH(EL, I S)
2l 1,000,0002/+63] 6,000 10,000 £4,000
O«E=FII(TS) SXE4 R(PH, MAH S)
5,000, 00021 +23] 10,000 20,000 210,000
ORIISTHHTY(Z4E)
4,000 250Kkg * 1802 180,000 300,000 A120,000
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2N SEAIEA
MM SAI|ZAER2Y
©2: YRAGIEXEeAE 2H(ol=TAIY SE3H) EER=E)
A -3 - A4A(3H) - MRAY - BES 04| &keH Jl & o Hln=2
O HelAlE &M (Alun) &2 2L
1403 *3,500kg* 180 88,200 178,850 A9,650
OEge eX22g H2H 2
4,000& *20L*30= 2,400 4,800 A2,400
OSASHelANE LFNHUAIE 4E 2
3, 150& *x20kg* 180! 11,340 22,995 A11,655
207 AN 27,885 16,110 11,775
01 AR2EAH| 20,000 0 20,000
Og&ote, 2%, 2A2X2AlE 2|t
B4 29 20,000 0 20,000
03 A& 22| 7,885 16,110 A8,225
OAIEHARH| 7,885 16,110 A8,225
AR 2 200,000 %10& 2,000 4,000 22,000
A LE) 2
175,000 255 %13] 4,375 8,750 A4,375
ASARE(DE 5) 2L 1,000 2,000 A1,000
TCEAZ D=5 AMAMIIA R
170,000 *33] 510 1,360 A8




